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First Year Higher Secondary Improvement Examination 
Part - III 

BIOLOGY 
Maximum : 60 Scores 

Time : 2 Hours 
Cool off time : 20 Minutes 

Preparatory time : 5 Minutes 

General Instructions to Candidates : 
• There is a 'Cool off time' of 10 minutes each for Botany and Zoology in 

addition to the writing time of 1 hour each. Further there is a '5 minutes' 
'Preparatory time' at the end of the Botany Examination and before the 
commencement of the Zoology Examination. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'Cool off time' and 'Preparatory time'. 

• Use the 'Cool off time' to get familiar with questions and to plan your 
answers. 

• Read the questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from 

the same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except nonprogrammable calculators are not allowed in 

the Examination Hall. 

ml i6 GI~ C/0 61l3ci6: 

• m1ro<:31nsfs ffi)Q)<ill(lf(TI)1m n.J6O6)Q) cg6Yl.JJ§6'm1<Wc06)6o cru6cgQJ::)~~(illc06)60 10 ffi1m1f::f 

n.l'l@o '<fhJOO 63Jn..O 6)6)S o' ~611sJ<Wl co1 c06)6o. <fhJSJ6)® cg6Yl.JJ§6'm1 n.J co"l d:h9::1 <Wc06)6cgCRln91o 

cru6cgQJ::)~@'61 n.Jffild:hl:1 ®6S6llB6cm@1m6Q)6ffir '5 ffi1m1ff' ®<IDJ6)0S6<;d6d:hci6 
m S (lITT) 6 cm @1 m::) <Wl m am d:h6 cm ®::) 6'ffiu. g)2 'D CTD Q) <ill (lf(TI)u cg .!2J ::) BJ 6llB cJ6 c06)u ~ (lITT) CO o 

°tl)'-96@Jcgmo, ffiR~ruco6ffiJ<illl ar@CRl<W ru1m1ffi<Wo ms(lf(TI)Jcgmo n.JJS1~. 

• ~(lf(TI)(06l)BOO °tl)'-96®6cm@1m Q)6mr cg.!2.JJBJ6llBcJ6 ~BD::)n.J6CO()do Cl.JJ<illlc06)6'mo. 

• °tll ~J cg.!2.JJBJ6llBci6c06)6o ~(lf(TI)ffio °tl)'-96®6'mo. 

e 63 CO 6 cg .!2.l ::) BJ m ffiJ CO ~ (lITT) CO 6) Q) '-9 6 ® ::) ITT> 6) ® CO 6) 6YITTID S 6 (lITT) 6 d:h '-916YITTID ::) am ~ n.J 

cg.!2.JJ BJ6llB~o ®?)cg(o) cg.!2.JJ BJ ffiffiJ co1 am m1 (TT) @6)cm 6)(o)ffi6)6YITTIDS6cgc06)6)1s(o)J6ffi. 

• <fh6'ffic06) <fh~e.J6<fhci6, .!2.l1L®6llBci6, LCJ)JnD6<fhci6, °tllcm1ru ~(lf(TI)co cgn.J<;do1am(lf(TI)6)cm 

~ 611s o <Wl co1 c06) 6'ffi o. 

e ar@QJ CRlJQ)~ ffilO eJ (lITT) ffi)Q) QJ::)<fhJ6llBcJ6 6)<fh::) S6c06)6'mo. 

• cg .!2.l J BJ 6llB cJ6 ffi e.i <WJ ~(lf(TI)1 e.160 m amd:h 1 <Wl 36611s". 
• cg L n.J o L Cf) o ffi6 <fh cJ6 6) .!2.l cm om o <fh o (lITT) <fh o am c0€) 6 cg e.i Ro 6 <fh cJ6 63 '-916) <fh w 6~ 63 co 6 

gQeJ cfucg LSJ6'm1 cfu ~n.J <fhffi6'ffi ru6o n.J co"l d:hl:1JnDJ ~ am ~n.J cg <WJCJ)1 c06)6Cl.J Jm> n.J JS1~. 

KR-143 1 Turn Over 



817 

PART - A 

BOTANY 

Maximum : 30 scores 

1. In the family Fabaceae, stamens 

are described as ....... . 

a) Five, epipetalous 

b) Ten, diadelphous 

c) Six, epipetalous 

d) Six, diadelphous 

2. Identify the kingdom based on 

the clues given below. 

a) Organisms are Eukaryotic. 

b) Their cell wall is made up of 

chitin. 

3. Give the scientific term of the 

following. 

a) Interchange of genetic 

material between non sister 

chroma tids of homologous 

chromosomes. 

b) Internode elongation just 

(1) 

(1) 

prior to flowering. (2) 

KR-143 2 

Time: 1 Hour 

Cool off time : 10 Minutes 

1. n.0o<&GY1Jm:>1<&m.> n.nom1e!lm.>6@s stamen 

( <&ce:,m:>co6l5B@~) nllruco1c06)6crn® ....... 

a) ®o 6Y~_r, nffin.ll@n.J flOe.Jm:>u 

b) n.Jwm), (U)(!l)()(U)(l)T)n.Qffi)u 

c) ffi'©O, nffin.ll@n.J flOe.J <n) 

d) ffi'©O, (U)(!l)()(U)(l)T)n.Qffi)u 

2. ®0@'9 @crn1co1c06)6crn m:>J.!2.lmce:,~6@s 

®os1cru.oomrnm1(l)T) ce:,1ouf(U)o nffi@®crnu 

@1co1.g,,101m.>6ce:,. 

b) g12rum.>6@s <&ce:,o(fl) @1rnm1 @@ce:,R1® 

6)c0:,()G'f)g m1roQill1®Ql06ffi. 

3. Cll)Om:>\®lm.> n.JBo nffi'9,!,®J,c0:,, 

a) ®om 6 ©Jn.J mom.> <&lce:, om <&m:> om6ce:, ~ @s 

<&ffi06ll0 m:>1<n) fl© 6l lc0:,0QlOf)1 (U)6ce:, CJD 

®Qlll1e.J~ g,Jffi1@ce:, ClJm:>u®6c06)~6)S 

6)6)c0:,Ql0f)o . 

b) n.JJ,n9Jn.Jlc06)J,CYD®1mu 6)@03,!, m2,m.r 

gQ~©<&mosu m"l~o ru (!l)uc06)6crn 

(1) 

(1) 

Ln.JLce:,1m.>. (2) 



4. An enzyme present in plants, 

which shows carboxylation and 

oxygenation activity. Identify 

the enzyme. 

5. Distinguish between protonema 

and prothallus. 

6. Observe the diagrams given 

below. 

(A) 

Name the type of flowers A and 

B. Give one example of each. 

OR 

Write two differences between 

racemose 

inflorescence. 

KR-143 

and cymose 

(1) 

(2) 

(2) 

(2) 

3 

4. m:> m:> J 6l5B~ am ce:,osm 6cm 63©6 coom:>ouf m1 

c0:,() (0(&6YlJ Ocfum:>1 <&e.J n91 cm Ln.J ru ro rnmmru2,o 

63 o ce:,u m:>1 g,J <& m n91 cm l n.J ru ro mm m ru 6 o 

ce:,osm1c06)2,crn2,. (l)()ffi)()Cff m1 nffi6l®crnu 

817 

®1©1-8,,I01m>2,c0:,, ( 1) 

5. 

6. ®0@'9 ®crn1co1c06)6crn .!2J1L®6l5BCJD 

m1Clll ~c06) 2,ce:,. 
,.-----~ 

(B) 

A, B omcrn1ru nffi® ®cornm1am g?_OO@<;l:j§ 

n.J6n91un.J6l5Bgp61n'? 630<&©ocrn1<&~m>6o 63©6 

g?_BOnDC06mo o..fl®o nffi'96®6c0:,. 

6) 6) m:> <& m om:> V g12 cm n.0 V <& g1 o om:> cm m:> 6 o 

(lj) Qill 1 eJ 6 glgl (l) 6fl'su (lJ J (lj) J () ffi) 6lffi CJD 

nm '9 2, ® 2,ce:, . 

(2) 

(2) 

(2) 

Turn Over 



7. Parenchyma is a tissue for 

storage, sclerenchyma is a tissue 

for ............. . 

8. The following are the characters 

of dicot stem and monocot stem. 

Identify the characters and 

write in appropriate column. 

a) Sclerenchymatous 

hypodermis 

b) Collenchymatous 

hypodermis 

c) Vascular bundles are 

conjoint, closed 

d) Vascular bundles are 

arranged in a ring. 

9. "Meiosis is highly significant in 

sexually reproducing organism". 

Justify. 

10. A cell when placed m a 

concentrated sucrose solution, 

shrink after few hours. 

Identify the physical 

phenomenon that leads to the 

shrinkage of cell and justify your 

answer. 

KR-143 

(1) 

(2) 

(2) 

(2) 
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7. n.J o co mi @ @ ce:, m ffi) 0 @ CO 6(l) 

c0:, eJ c0:, ~ () 6) 6(l) 83:, 1 am ) ffi) V <@3 "l O ffi) 6) 6) c0:, Ql 

.. ........... m <&ru6fl's1m.>~®o6m'. (1) 

8. 6) 6) (U) (&c0:, o~r 6lro:lQill1<&~m.>6o 

(& Ql o (& sm o (& c0:, o ~r 6lro:lQill1<&~m.>6o 

m:> ru1 <& (/() n91 ® ce:, cftJ ® crn1co1c006 cm 6. 

gQru @ m.> @1 co1-8,d 01611ml) ®om 6 <&m.>o g,J,'.)Ql om.> 

(&c0:,()~6l5B~ am nm '9 2, ®J,c0:,. 

a) 6l 6lnD<&<;l:j 06)S© m1m:>u <YU<@3 I 0®6) 6)c0:, Ql 

b) 6l 6lnD<&<;l:j 06lS©Ol1m:>u <&c0:,0~ ffil6) 6)c0:, Ql 

c) m:> oru nD m c0:, e.Jc0:, (fl) c0:, ml<& g,J()mJ] ~' 

<&<@3 om:>1 rur 

d) m:> o ru nD m c0:, eJ c0:, (fl) (lJ ~ mmoce:, ~ @1 

wlam ru1m,'.)m:>1-8Jlco1c006crn6. (2) 

9. "@@e.Jo(f)1ce:, Ln.J®JJ,amn.JoBmo msmm6crn 

g,J1 ru1 ce:, cftJ c00u g?_ ro m @ o (/) o ru ~@ co 

Ln.JOWOffi,'.)Ql~®osm"''. ffi>OWJc0:,C01c006ce:,, (2) 

10. (/)()(U9(lj) 

e.Jom.>m1wle.J1s2,crn (&c0:,()(J()o c0:,J,0-8,du 

msm1c00Jo6c0:,ooc06) <&(J()n91o .!2.l6C066l5B6crn6. 

<&c0:,0(J()o .!2.J6C066l5B6crn @1 mu c0:,0C06mQlOW 

l n.J ru ro mm mo @1 co1 _q,J, o1 611ml)u g?_ mm coo 

m:> ow Jce:, co1c006ce:,. (2) 



11. Ethylene is a gaseous hormone. 

Describe its four different 

actions in plants. 

12. Ammonia is used to synthesize 

amino acids in plants by two 

ways. Name the two ways of 

(2) 

11. nm l.01 ell cm 63 co 2, ru o ®c0:, <&nD o co<& mo 6llO 

@'@ srrf. m:> m:> J 6l5l3 g11 am gQ ®1 @ ~ mo e.r 

12. m:> m:> J 6l5l3 CJD ®o <& mo 6m1 w mfl am m1 cm 6 o 

®o m1 <&mo ®o ~ 6l5l3 CJD g?_®n.J osl;i:::fl c06) 6cm ® 

©6fm ru<#Jce:,~e.JJ6lSW06ffi. 
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(2) 

synthesize of amino acids. (2) ®o m1 <& mo ®o ~ 6l5l3 CJD g?_ ®n.J osl;i::fl c06) 6cm 

13. Glycolysis is the common phase 

in both aerobic and anaerobic 

respiration. Where does it take 

place and what 1s the end 

product of glycolysis? 

14. The figure showing the pathway 

of Tricarboxylic acid cycle is 

given below. Name the 

compound present m the 

position of A, B, C, D. 

(2) 

(2) 

gQ'O ©6fl's6 ru<#lce:,~@sm.>60 <&n.J@C0'96@ 6ce:,. (2) 

13. ruom.>6 Cll)Jm:>mwrm1@~m.>6o ®oruom.>6 

Cll)Jm:> mwrm1@~m.>6o @n.Jo®6ru om.> 

neJ 3 Ql06TT) 6) 6)~ (&c06)0~m:>1<ru. 

nffiClJ1@Sm.>06ffiu 6)6)~ <&c06)0g11m:>1m:>u 

msc06)6cm ®. gQ®1@~ ®oru m:>omwrm1 am 

g?_6fl'sOc0:,6cm g?_®n.J cm <&Ql ®? 

14. .2.ilL®o @@Lsce:,oro<&6llJOcfum:>1ellcfu @'@m:>1G.O 

@@m:>c06)1~@m .!2.lJ.2.il<;l:flc06)6cm6. A, B, 

C, D omcm"l cru..o om 6l5l3~ am ce:,o<&6m6fl's 

m:>om.>6cfu®6l5l3~6lS <&n.J6l©'96@ 6ce:,, 

(2) 

(2) 

Pyruvic acid 3C 

Acetyl coenzyme A 2C 

4C D 

4C 

KR-143 

Succinic acid 

4C 
5 

A 6C 

B 5C 

Turn Over 



15. Position of centromere 

determine the shape of the 

chromosomes. 

a) Name the different types of 

chromosomes based on the 

position of centromere. 

b) Draw any one chromosome 

among them. (3) 

15. @m:> cm <&LSOOl1 m.>o1@~ cru..o o m m o srrf 

<& lce:, om <&m:> o m6ce:, ~ 6@s @'@ c0:, ~ ®1 6) m.> 

m1 Cll).!2.J mJlc06)6CYD ®. 

a) @m:> ®<&LSOOl1 m.>o1@~ cru..oomo 

@'@WO©QlOc06)1m.>6~~ ru1ru1w ®coo 

<&l c0:,()Ql (&ffi) 0Ql,!,c0:,~ 6)S (&n.J 6) ©'9 6 (lj) 2,ce:,. 

b) g12rum.>1(l)T) nffi6l®83:,1e.J6o 63©,!, 

<& lce:, om<& m:> o m1@ ~ .!2.J1L®o 

(lJ co (!2)c06) 2,ce:,. 

16. Photophosphorylation takes 16. Ln.Jce:,o(fl) m:>o<&~n916mwm)1(l)T) <&n.00<&30-

place during photosynthesis. <&n.0omr<&n.0001<&e.Jn91® msc06)6crn6. 

a) Name the types of photo- a) ru1ru1w ®coo <&n.00<&3o<&n.0om:>u<&n.00-

phosphorylation. o1<&e.Jn91@~ <&n.J@co'96®6ce:,. 

b) Distinguish between them. b) g12ru ®Qlll1e.J6~~ ClJ,'.)®,'.)Om:>6l5BCJD 

(Hint : Any two differences) (3) nffi'9,!,®J,c0:,, 

817 

(3) 

( ffi>J.!l.Jffi: ©6fm ClJ,'.)®,'.)Offi>6l5BC/D) (3) 
OR 

KR-143 6 



OR 

Observe the given figure and 

describe the process of ATP 

synthesis. 

ThylakoLd 

menibranle 

KR-143 

I ADP= I 

(3) 

7 

ctm)6)~ab1arn 

.2.llL®o m1co"l~.g,f ATP m1roQillosmo 

nil C/l) Bice:, co1 c06) 6ce:,. 

817 

(3) 
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PART - B 

ZOOLOGY 

Maximum : 30 scores 

1. Find out the odd one on the basis 

of taxonomy and justify your 

answer. 

a) Family 

b) Order 

c) Class 

d) Her barium 

e) Phylum 

2. The diagram of an animal is 

given. Identify its symmetry. 

KR-143 

(1) 

(1) 

9 

Time: 1 Hour 

Cool off time : 10 Minutes 

1. SOc0:,u<&m:>06mQl1m.>6@S ®os1cru..oomrnm1(l)T) 

63fl6l<;l:J§® nffi6l®CYD,!, c0:,6)6fl'sWfm1 g?_Wfm©o 

m ,'.)Oml'lce:, co1c06) 6ce:,. 

a) n.nom1e!l 

b) 63()(U)(O 

c) <@30ffi) 

d) 6lnD©<&6YlJ01m.>o 

e) 6) 6ln.O e.Jo 

2. .2J1 l ® rnm1 (l)T) 

g,J"] ru1 m.> 6@ s 

®1©1-8,,I01m.>2,c0:,. 

(1) 

(1) 

Turn Over 



3. Two characters of an 

invertebrate animal is given : 

a) Jointed appendages 

b) Malpighian tubules 

Identify the phylum and write 

the role of malpighian tubules in 

it. 

4. "In cockroaches a special mode 

of vision is noticed." 

a) Write the speciality of vision 

in cockroach. 

b) Name the organ and its basic 

units that perform vision in 

(2) 

cockroach. (2) 

5. Identify the WRONG statement 

from the following and correct it. 

a) Lipids are not strictly 

macromolecules. 

b) Cellulose 1s not a 

polysaccharide. 

KR-143 

(1) 

10 

m:> ru1 <& C/l) n9'.I ® ce:, ~ o srrf 

6)c0:,0S6Wf'm1©1c06)6cm@: 

a) <&g,Jom>~M ®o<;i:J<&~g'J,!,ce:,CJD 

b) QlO(l)T)n.11 ~ (!2) cm m~ce:,ce:, CJD 

ffi) J @ () (lJ 

(lj)()6)'9 

6l 6ln.O e.Jo nffi6l ®cm6 ce:, 6l6fl'sWf'm1 gQClJ mJl (l)T) 

mo (l)T) nJl g,J1 m> cm m ~1 ce:, ce:, ~6@ s n.J 83:,u 

nm@mr>@cm'96®6ce:,, 

4. "n.Joflce:,~1(l)T) Ln.J<&®,'.)c0:, co"l®1m>1e.J6~~ 

ce:,o<# .!2.JW06ffi~®"''. 

a) n.JOflmJl@ei gQ'D ce:,o<# .!2.JO co"l®1c06)6 

n.J ow 6 cm (&n.J@ (0ml) nm @cm '9 6 ® 2,ce:,. 

m:> nD o w1 c06) 6 cm ®o ru w ru ru 6 o 

®o®1@~ ®os1cru..oom ne.isce:,6l5B~@s 

817 

(2) 

<&n.JCOJ,o nm'9,!,®J,c0:,, (2) 

5. (lj)()6)'9 @ ce:, o s 6 wrm1 co1 c06) 6 cm ru w1 (l)T) 

m1cm2,o 6l®AO<l2.l Ln.Jffi>u(lj)()(lj m 

c0:, 6)6fl's wrm1 ®1 CO,!, wrm1 nm '9 6 ®J,c0:,. 

a) e.J1<;i:j1 GD6ce:, CJD c0:,~®,'.)QlOW 

mo<&Lc0:,o<&mo~c0:,J!l.~c0:,CJD ®o~. 

b) 6)ffi>~J,(&e.J()ffi)u 63(06 (&n.J0~1ffi>Oc06)-

6)6)0(U) ®o~. (1) 



6. Examples of two enzymatic 6. 

reactions A and B are given. 

Identify the class of enzymes in 

A and B. (2) 

coo m:> o uf m1 ce:, ~6@ s L n.J ru ro mm m@ mm 

g?_BOnDC01c06)6cm A, B nmcm"l cowl 

Ln.J ru comm m6l5B~o6m' ®0@'9 @ce:,os6 mm1 co1 

c06)6cm®u. A m.>1e.J6o B m.>1e.J6o 

L n.J ru ro mm1 c06) 6 cm coo m:> o uf m1 ce:, ~6@ s 

817 

nJl@O(f)o(c@30ffi>J nffi6l®@cm'96®6c0:,, (2) 

A) S Reduced+ S' Oxidized -------+ S Oxidized + S' Reduced. 

(S, S' - substrates) 

B) S - G + S' -------+ S + S' G 

(S, S' - substrates. G - group) 

OR 

"Protein is a heteropolymer not 

a homopolymer". Substantiate 

the statement. (2) 

7. Select the connective tissues 

from the following and write one 

character of each tissue. 

Areolar tissue 

Neural tissue 

Adipose tissue 

Cardiac tissue 

KR-143 

(2) 

11 

ctm)6)~ab1arn 

"(gln.JO§"l m6ce:, oo @nDA1 (g00(gn.J0~1 ai ro 

@'@ 6(lf (g nD O (g Ql O (g n.J O ~1 Ql CO ®o ~ " . 

l n.Jm:>u @oru m@ m.> m:> ow Jce:, co1c06) 6ce:,. ( 2) 

@ ce:, o s 6 mm1 co1 c06) 6 cm ru m.>1 arn 

mo(U)"l ce:,ei 

Turn Over 



8. SA node has the key role in the 

rhythmic contractile activity of 

human heart. Give a reason. 

9. Complete the following table 

which shows digestive glands 

and their enzymes in an adult 

man. 

Digestive gland 

BnDm LC/) mo1 

(2) 

(2) 

8. mm6n91,'.J nD~Bm.>Wfm1@~ ®O~O®Qlc0:,QlOW 

m:> <& 03:, o .!2.l ru1 ce:, om:> l n.J ru ro mm m rnm1 (l)T) 

SA <&mo ruf m:>6Ln.JW om n.J 83:,u 

ClJnD1c006CYD66fm nffiCYDu n.JOm.>6crn®1@~ 

c0:,0CO 6ffio ClJ,'.)c0:,u ®Ql OcOO 6ce:,. 

9. ClJ~©-8,d@m.>rnm1m.> 63©0~6)S BnDmL(f)ffi01 

c0:, ~6 0 ®o (lJ m.> 6 6) s co O ffi) 0 C/)u m1c0:,~60 

g?_CR>6l<;l:j3 ®06)'9 6)c0:,0S6Wfm1©1c006crn 

n.J 31ce:, n.JJ ro rnm]ce:, co1c00 6ce:,. 

Enzyme Function 

room:> ow m1 W©Qlllo 

Gastric glands 
........... (A) ......... 

Protein digestion 

@'@QlOCll)m.> l(f) mo1ce:, oo Ql0offi>,'.)Wfm1@~ BnDmo 

Salivary gland Salivary amylase 
........... (B) ......... 

g?_m1m"lro L(f)mo1ce:,oo m:>e.Jm>ruo1 ®oai1<&e.JmJlm:>u 

Nucleases Nucleic acid digestion 
.......... (C) ........ 

817 

(2) 

(2) 

m JJ<eG 1 (& m.>m:>u ffi)u mJJ<eG1ce:,u ®ooB!,6l5B~6lS BnDmo 

Pancreas Lipases 
........... (D) ......... 

n.JO®lc0:, 1m.>om:>u eJl<&<;l:j(!2)ffi>ffi)u 

KR-143 12 



10. In the given graph of oxygen­

haemoglobin dissociation curve 

'X' axis denote partial pressure 

of oxygen. What does 'Y' axis 

indicate? Write any two factors 

which affect the sigmoid curve. (2) 

y 

100 

10. 

/ 

80 / 
I 

60 I 
I 

40 I , 
~ 

20 / 
V 

V 
0 20 40 60 

817 

® cm 1 co1 c06) 6 cm 63 () c0:, V m:>1 g'J cm -nD1 (& Ql () 

<&~pmJlcfo (U)1<&m:>Om:>1M2.ln91® ce:,ronJl@~ 

l (/) o n.n1 @ eJ X ®ocfri9::1o 630c0:,uffi)1g,J@~ 

n.JO©n91,'.J(l)T) L n.J n91 o1@ mm.> o srrf 

Ln.J®1m1womo @.!2.l(lli6cm®. Y ®ocfri9::1o 

nffimr>1@mm.>o6m Ln.J®1m1w"lce:,co1c06)6cm®? 

gQ"O l(f)On.01@e.J m:>1(f)u<&QlOWM ce:,ronll@m 

m:> Jo w"l m1 c06) 6 cm co 6fl'su neJ sce:, 6l5l3 fil 6) s 

(&n.J 6)(0'9,!, ®J,c0:,. (2) 

.---

80 100 
Partial pressure of oxygen (mm Hg). 

}( 
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11. Observe the given diagram of 

malpighian body (renal 

corpuscle) and answer the 

following 

A 

a) Identify the parts A and B. 

b) Specify the function of 

proximal convoluted tubule 

in urine formation. 

12. In the medical record of a 

patient blood pressure is noted 

as 140/90 mm Hg. What does this 

condition indicate? 

KR-143 

11. ®crn1 co1 c06) 6 cm ai o(l)T)n.11 ~ w cm <& 6YlJ o (U)1 

m.>6@s ( Olffi(l)T)<&c£•.,O©<;l:jffi>(l)T)) .2.llL®o 

m1co"l~.!~,l ®0@'9 @c£•.,os6rnm1co1c06)6crn 

(lJ(!2)c06) g?_WfmC06)Ql'9,!,®J,cEl:,. 

817 

Proximal convoluted tubule 

(2) 

(1) 

14 

a) A, B omcrn"l @o(f) 6l5B<&gl@ ®emu 

Offi'9,!,®J,c£•.,. 

b) OlJl®6lwm) (&(lJ(0®1C01c06),!,(YD®1(l)T) 

<&Ln.JOc£•.,uffi)1 m (l)T) cEl:, 6fl06)(lj OglJ3(U)u 

s ,'.)J 6YlJ 6 g16@ s l n.J ru ro mm m n.J 03:,u 

ClJ,'.)c6®Ql()c06) J,cEl:,. 

12. 63C06 <&C00(1)1 m.>6@S 6l 6)QJ B,'.)(fl)Offi>\® 

(& CO 6lJ mfl (l)T) CO cEl:,u ® ffi) Ql (0 '3 0 

140/90 mm Hg nmcrnu <&C06lJ6l<;l:jS,!,Wfm1 

mfl co1 c06),!, cm 6· gQ"O ®o ru m10 <1ffi mrfl@m 

(2) 

m>J.2./l~c06),!,(YDJ,. ( 1) 



13. An athlet met an accident on the 

ground. His thigh bone slipped 

off from the girdle. 

a) Write the name of the above 

mentioned girdle. 

b) Identify the type of joint that 

slipped off. 

c) Name the disorder caused 

due to the accumulation of 

uric acid crystals in such a 

joint. 

14. Observe the following branching 

tree diagram. 

Adrenal medulla 
(Central part) 

Hormones 

(2) 

y 

13. @@ m (lj)() m rnm1 am m:> o@ ru1 .q,J, 

63COn.Jc0:,Swm)1 am 63C06 ce:,omJlce:, ®OCOwm)1@~ 

®J,S@m.>,~r (&(f)(U)1am ®ocru..o1ce:,~am m1crn6o 

<&QJ CO 6ln.JS 6ce:, m.> 66fl'sOmJl. 

a) gQ"O @() (/) rnmu c0:, () 6(l) 6 cm <& (/) (U)1 am 

nffi®OGm? 

b) nffi®,!, ® co rnm1 ei6g1g1 ®()ffi)ul.01 

m:> aw1 m.> o smu gQru1@s 

c0:,06m6ln.JS 6cm @? 

c) gQwm)COo m:> aw1 ce:, g11 am m.>Jo1ce:,u 

@'@)ffi>1(U)u n.J co eJ 6 c0:, CJD ®o s1 611ml) 6 
c0:,JS6crn ®u OlJ eJ Ql 6 6fl's O ce:, 6 cm 
<&COO(/) rnm1@ ~ <&n.J@ comrl'? 

14. ®0@'9 @ce:,os6rnm1co1c06)6crn Cll)06lJ0.!2.!lL®o 

m1Clll ~c06) 2,ce:,. 

X 
.................. .,.... .............. . 

( Outer part) 

Hormones 

Corticoids 

817 

(2) 

Adrenaline ......... _.,._. .............. .. 

a) Complete the representation 

by filling 'X' and 'Y'. 

b) Adrenal 

hormones 

medullary 

are called 

'Hormones of fight or flight'. 

Why? 

KR-143 

(2) 

15 

a) X, Y omcrn1ru n.JJco1<;l:[l-8,,16@ce:,o~ 

Cll)06lJ o .!2.!l l ®o n.JJ rornm]ce:, co1 c06) 6ce:,. 

<&ru)O ro<&m osm 6ce:, CJD ' <&n.J ocoos6 ru om 6 o 

n.J1 cm ®1 C01611ml)u 63 0 S 6 ClJ O m 6 Ol,!, glgl 

(& ru) () (0 (& Ql () 6(l) 6 c0:, CJD ' @'@ smu nm emu 

n.Jom.>6crn @®mr>6@ce:,o~? (2) 

Turn Over 



15. Nerve impulse transmission 
include generation and 
propagation of action potential. 

Write various stages or events 
in the generation of action 
potential. (3) 

OR 

15. mo ruJl m.> @'@ <& ru (/) 6l5B fil@ s <& l n.J cfri9::1 sm 

rnm1 am @'@c0:,un91 cm 6ln.J03cmn91,'.)(l)T) 

COJn.J6l<;i:jS6c0:,m.>60 ®orum.>6@s Ln.Jm>cosmo 

ffiSc06) 6ce:, m.> 6 o 6) .!2.J ~ cm J,6m. @'@c0:,un91 cm 

6ln.J03cmn91,'.)(l)T) COJn.J6l<;i:jS6crn@1@~ 

nllnllw ne.i §6l5BCJD nffi@®@cm'92,@2,ce:, · 

ctm)6)~ab1arn 

®06)'9 6)c0:,0S6rnm1co1c06)6crn .!2.l1L®o 

m1 co"l cfri9::11.q,t m o (U)"] m.> @'@ <& ru (/) 6l5B oo 
6)c0:,Ql1c06)am m:>1 ffiOn.Jum:>m:>1e.JJ6lS ce:,scrnu 

(&n.J oce:,2,crn @1@ ~ (&~ ().!2.J() ©§u 

817 

(3) 

Observe the diagram and 
construct a flow chart to show 
the mechanism of transmission 
of nerve impulse across a 
chemical synapse. (3) 

®(lli000c06)J,c0:,. ( 3) 

~------:,,1-'---"t- Axon terminal 

Neurotransmitters 

Synaptic vesicles 

Presynapti1; membrane 

Synaptic cleft 

Postsynaptic membrane 

Receptors 

16. Observe the following 16. ®06)'9 6)c0:,0S6Wfm1©1c06),!,(YD ffi6l3~,!,glgl 

vertebrate classification. g,,fl ru1 ce:, g16@ s ru ro e&"l ce:, co sm o 

m1rol cfri9::11c06) 2,ce:,. 
Vertebrata 

a .............. ? 
I 

Gnathoromata 

Class 

Cyc \ostomata 

a) Find out 'a' and 'b'. 

Pisces 

Class 

Chondrichthyes 
2 Osteichthyes 

b) Compare any two characters 
of class chondrichthyes and 
osteichthyes. (3) 

KR-143 16 

Super class 

b ··~············? 

Class 
Amphibia 

2 Reptilia 
3 Aves 
4 Mammals 

a) a, b omcrn1ru cim@crmcrn6 
c0:, 6)6fl'sWfmJ,c0:,. 

b) (&c0:,()6f!OLS1c0:,u(lj)lffi)u 63()ffi>uf)1c0:,u(lj)lffi)u 

nfficrn"l <@30ffi> 6ce:,~ @S ©6fm m:> j@OQJ 

(3) 
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